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1 Hidden Charge

1.1 >bA%I3Y

BEENDHSBVAER Q D, TEICEEINTLS,
REAELSERICENHED S, BFD, » BHICFTEH
FICRFINE, RERICKZBHEI N (V—OVAH)IC
FoTHELSN, ROV —VICBERT %, HEHRREICHT
X —ETHIEENS, RTU—=VICERT ZUBEDE
B, yy ZAIETBET, BEEFEHNDHSBVERICD
WTBRZBZ N TES, 2L, ROV —2Ild2=0
ICREL, : #MICEHR, BROKZTTOFETH S,
UTF®D, %7 #+— K (Rutherford) OBE. AR ZEFH LT

ENAN
_ k@ 1
- 2F tan(¢/2)

12720, b IFEREH, FIFEFOIRILFE—, ¢= —1.602x
107 9C IXFEFDER, k= 8.99 x 10° Nm2/C2, 0 (XEELA
THD. BREKIIE, EFHEHEE (BRE) HhSHzTHd
HGEFHETHEIRELICCSTORIAIERRTH S, BLEL
AL, I, HELE (B hoR<CEBNIAEICVWD
TOREOET L, HELHIERD o7&, REICEELE (BR)
HoRCEBNIMUEBICWAETDREDAEAZTHBRIAET
%50

1.2

@fﬁéﬂf:%ﬁ@@ﬁ% (IQ,yQ,ZQ): %ﬁ%: ﬁ%%: a]
BELPRD SRETREE L. £/, BROZREICOVWT, &
BEEDA—HA—IEZITR. VIHAREDE —LDUEIC
DWTIE, 0.5 mm ZED, IERSMHICHESREE (Gaussian
error) '# %,

IARTORERT, INILAETDOT—EDER, INIIHE
DTZ7, AZRAELEDIDIZESBRDEL, YOK
SICEREB WD, HEREREE K.

1.3 Program Interface

F9 7O S LICUTOXNELNRRIN, IMEREEDANS
hRDEN B,

Beam accelerating voltage in V:

155 10000 DEIDOEHF%Z AL return F—%HL AR
TV HtWTTOY S LICEHHT 2EFOVEAEEEZ AN
T3, UTOXEHNKRREIN, £T 2y DAIDKRDHEND,

x-coordinate of the electron beam in cm:

2055 20 DEIOFZ AL return F—%ZHLARE
Vo UTOXELRREN, GLVT y ODANTIDBKDH SN B,

y-coordinate of the electron beam in cm:

20 55 20 DEIDEFZ AL return F—%Z LA
W TNOE3IDDANICEHBEAEENTVBR L, UTOD
XEHNRRIND,

Invalid entry. NNODOHIRZZERL TEZBEASN
LAaTL,

3ODMMFENNDLEZZ , 7OV S LIEUTZEA
ERATS

Electron beam fired with parameters (x, vy,
V) =

COELDICANNLIENBERTEIN, SitLVTUTZH
VA RAE

Electron detected at (x, y) =

CDESICRI )=V ETCEFEZRHLEUABLNRRTS
N3, LML, EFHEBERORKZITTHZ AV )—2D5%
ICH7EBE, UWTOXELNHNDTN S,

Electron not detected...

BE, PEERZMICICANNTEIeTTIOT S Lz24%
DR LEITHK S,

2 Black box

2.1 #1®HIC

B2 m ORED TS v IRy I REEZLS, TDMH
IZIE, B2 m, OYMED, IEREH L OETDHEWERT
MOLEEH,SBO FIFENTWS, thDEE ms OYIED,
YK mo OIS, BEEDRWMIRER b, DIERICK>TH
DTRIFENTWS, TNESOYMERISREICKEFET 2/)NER
#E&?ﬁ%gtjéo iﬁﬁ*@%h‘i, g = 981m/82 <, %’é@ﬁﬂﬁ
ICFITICER T %,

B|E, N2TYTO—EDMREXH>T, LTFICHES
TRIENTE S, MEEDO/NE— 2T, BRI s CIEE
m/s? ZENENDRATY TILIZ, NATBLT, 70
TJSLTBRIENTEZ, YIal—vavid, X5y~
CZil, BEAONTMREZH#IFT3HICHICBIES
HF%, BRALCHICRRIZ N TES, Ial—
avik, 7OJSLEELTAILE—D text 7 71 ILIC
ENS50FHAMETENT B, IRTOTZIalL—o3Vid,
FHODOEICHIEERE T, FRIBATE %,
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GE): IO EDRED, NESVWIT VA LBBREESATL
%, lERIE, +/NTHTBRICK L TERELED, KEARE
Ficld, ZRUIBD LTV ki & ke DIEIE, FaHERIEL
TW3BED, FEHRMETO/NTVWEFIIE TS ENZEN
DIFREHE LTEEINTWS, N F EIEEIK, N
HERICERLBICERBEER %, HORAEOARETE
I0.6m T, FIZ3mOETOHEREDEAFICERIISMAE
LTW3, B RFCRKICH >, MELFERHOY
EICER LRI, ERIFEFNICART T3, MIE, BER
RIS TIFEINTLERL,

2.2 &8

3_’\\—(0)/\05)(_& mi, Mo, M3, kl,k’g %5;&5;'@:3:0 CTLB
DIERDREMTIIHER L\,

TRTDORRT, INIAETDT—HDR, SNIIFE
DIZ7, AZRAELLEDNADBZLSBHDER, CDOK
SICERZEVD, ZHEE L,

23 FAJSLLIVE=T71—=2R

F9 OV I LIE—EDANNZERT B, CCTIEUTD

ANNDDEIEETH B0

s BEDIMERNZ—2IZDWVWT, 2 DOEFZ AL re-
turn z#89, HIZIE: 1.5 -0.4
1 DEOHMFIIMENZ—> ORGRMZz RS, COE
B THD, NHIE0.01 OFBETAEITNUSRS AR, 2
DEHOHFRMEEZRY, COBMIEmM/s> THD, N
7713 -30 H5 30 DRETARIFIUIBE SR,

s BIEDEDIRLICDWVWT, repeat ELWSXFF & EY
ZAN71L return 109, FIZIX: repeat 10
CDEMIIEMEDEDIELEIZR T, endrepeat BN
NENBETOLTOEELNEDIERLITON S, (TEE
).

s HIEDIEDRLDETICDOWVWT, endrepeat X ANt
&Ko REERIBT DL, repeat and endrepeat DE®D
LTOMEMTBESNIEEDLZ DR LEIKIZIFITHN
B0 B8, BORLOPTHIICHDEDIRLZITS L
IEHR7R L,

s SHABFREIDZEEICDOWVWT, sample WS XFHEEF
ZAN7IL T return 29, BHlZIL: sample 0.4
COHFIIFHLVEHABEAZRY, CCTHEEL KM
FRCTTFRAMT7AILICHLOWRRAE TN S, 5t
RIEFRE I 0.01 OB THRITNIIRS BV, BHFHAIR
BT 7 4L TO0.01 FICEEINTULS,

* begin EANTBDE—EDANNZHET L, REBRZHAT
Bo
BEHCWK DO DOEEZE T, return ZIH I DA TE

%, Iz,
sample 0.4 repeat 10 1.5 0.4 1.5 -0.4

endrepeat begin
sHRBFE% 04s LT, a=04m/s? ¥ a = —0.4m/s?

ZENTNI0EITS N TE 3,

HL, AABELLRVWE, RDK 5% error messages

MNHEBZDT, POET,

« HL, MEEHLEEING SIE:

Acceleration is out of range.

s H L, MEDBRGEFREDEBFEING S IS:
Duration is out of range.

« HL, sHRIEEDEEING 51T
Sampling time is out of range.

L, STOREMDEERIING S5 I
Number of repeat times is out of range.
cBbL, —DDBEDEBELOFTHDEDELZELELDIET
BLE:
Cannot repeat actions inside another
repeat.
s BMOBINREFBODERLABVDICEDRLZEDZS L
fce &
Cannot end repeat outside repeat.
s TOMDIANTDIHFE:
Invalid entry.

begin Z A\/1$5 &, FOUF LI
Enter name for output file (e.g. "results").
You should use Latin letters and numbers
because some special characters are not
allowed.

&, HA7 7101V DEFIZEWVWTL %,

ZaiZz AN/IL Treturn 2189, FNICIIO-—YF
FLRIFNBXELV. T7MIILERBEBHEHTHRVL, REFESN
BUWATRERMD H B, siENIEER . txt DB TTOY S
LERLT #IEZ—ITFRFESN S,

CD®T, 7OV I7LIF

Begin experiment.

CRTLTREZRIBL, RERBN S OFME (Time
(s)), BIEE Nz F OfE (Force (N)), FaDINEE (Accel
(m/s"2)) ZRTRT %o

TO7SLIERDSIEO—DDAyE—T%RTRT B0
c HL, ERVEILIS:

Experiment ended successfully.
cHL, EHRHICH -5

The box hit the ceiling. Experiment ended.
s BbL, AHRICE > 5!

The box hit the floor. Experiment ended.
cHL, MOFOEHDES LAERLED, —DHFEICH

fco1c5:

Masses and/or the box collided. Experiment

ended.
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